       Activity 112  
subordinating conjunctions x transitions
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My Big Fat Greek Wedding
I.

Watch the first movie segment from the movie My Big Fat 
Greek Wedding. Then choose the best conjunction or
 transition. Next, decide if the sentences contain a 
subordinating conjuntion or a transition word. The 1st 
scene shows Toula, the Greek young woman, meeting 
her American fiancé’s family for the first time.
1.
	 The American family is quite polite, but they don't like talking very much.

	The American family is quite polite. Nevertheless / Otherwise, they don't like talking very much.

	( ) Subordinating conjunction
	( ) transition


	The American family is quite polite, although/ since they don't like talking very much.


	( ) subordinating conjunction
	( ) transition


2. 
	Toula showed her future parents-in-law her creative, unusual wedding plans, but they didn't seem very excited about them.


	Toula's future parents-in-law didn't seem very excited, even though / however her wedding plans were creative and unusual.

	( ) subordinating conjunction
	( ) transition


II.

Now watch the second segment from the same movie. Repeat the process in exercise I.  Now, Ian, the American guy, meets his fiancée’s Greek family.
1. 
	Ian got very surprised with his fiancee's Greek family during the dinner party. The reason is that they are noisy and agitated.


	Since / Provided that the Greek family is very loud and agitated, Ian got really surprised during the dinner party.

	( ) subordinating conjunction
	( ) transition


	The Greek family is very loud and agitated. Therefore / However, Ian got very surprised during the dinner party.

	( ) subordinating conjunction
	( ) transition
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2. 

	The only way for Ian to be happy after getting married is to get some ear plugs.


	Unless / If  Ian gets some ear plugs, he won't be happy after getting married.

	( ) subordinating conjunction
	( ) transition


	Ian must get some year plugs. Consequently / Otherwise, he won't be happy after marrying Toula.


	( ) subordinating conjunction
	( ) transition


3. 

	Being accepted by the Greek family depends on Ian's positive reaction to their different behavior.


	As long as / Even though  Ian has a positive reaction to their different behavior, he will be accepted.

	( ) subordinating conjunction
	( ) transition


4.

	Toula believes that her Greek family will treat Ian well. They don't care if he doesn't know anything about the Greek culture.

	Toula believes that her Greek family will treat Ian well unless / even if he doesn't know anything about the Greek culture.

	( ) subordinating conjunction
	( ) transition


5. 

	Toula and Ian have very different families. For this reason, their integration will not be very easy.

	Toula and Ian have very different families. Nonetheless / Consequently, their integration will not be very easy.

	( ) subordinating conjunction
	( ) transition


6.

	The integration of Toula's and Ian's families will be difficult since / unless they have very different families.

	( ) subordinating conjunction
	( ) transition


III. Now watch the 3rd segment from the movie My Big Fat Greek Wedding. Then connect your ideas, using subordinating conjunctions to connect ideas within a sentence and transitions to connect ideas between sentences.
	Ex: (provided that - subordinating conjunction)
	Toula's mother will understand spoken English well provided that (as long as, only if or if) someone occasionally translates or paraphrases difficult words.


	Ex: (otherwise - transition)
	Ian's parents had a few drinks. Otherwise, they would not relax during the dinner party.


	1. because (or since) - subordinating conjunction
	

	2. even though (or although) - subordinating conjunction
	

	3. therefore (or consequently) – transition

	

	4. However (or nevertheless) – transition

	


Answer key

Movie Segments to Assess Grammar Goals

Activity 112 – Subordinating conjunctions x transitions
My Big Fat Greek Wedding
Answer key:

I.

1. Nevertheless (transition) and although (subordinating conjunction)
2. Even though (subordinating conjunction)


II.

1. Since (subordinating conjunction) and therefore (transition)
2. Unless (subordinating conjunction) and otherwise (transition)
3. As long as (subordinating conjunction)
4. even if (subordinating conjunction)
5. Consequently (transition) and since (subordinating conjunction)


III. Answers will vary.
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